Chapter 12  Section 12.1–12.3    Even Answers Mostly
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Section 12.1 
Class Exercises

1. 3
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9. not comformable
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12. You’ll get a 

      2
[image: image11.wmf]´

3 matrix

Section 12.2 

Practice Exercises

2. 1
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6. 3
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Section 12.2(continued)

16. $540
18. 
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20. $2.80, $4.00

22. yes

24. yes

26. yes

28. AB = AC, but B
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30. (2,5)

32. (1,-1)

33. AB
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I (identity matrix)
34. K = 
[image: image19.wmf]5

4

2

éù

êú

êú

êú

ëû

, RK = 
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Team B won with 47pts

36. DEF 3
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 be any 

other matrix of this form. Use 

matrix multiplication.
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 = A2 

= A when? 2ab = b. So either 

a = ½ or b = 0. If a = ½ , then 

a2 – b2 
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a which leaves b = 0.
From this we get a = 0 or 1.

39. Start with two general 

2
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2 matrices and multiply.
40. Write out each matrix 
with terms. Then used the 
distributive property for reals.
41.
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Section 12.3 (continued)
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17. no relation
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18. no relation
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19. R4 & R5
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20. F can, R5 shows that

B gives a message to A.
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10. � EMBED Equation.DSMT4  ���


12. � EMBED Equation.DSMT4  ���


14. � EMBED Equation.DSMT4  ���


16. not comformable


18. � EMBED Equation.DSMT4  ���


20.� EMBED Equation.DSMT4  ���


22.� EMBED Equation.DSMT4  ���


24. � EMBED Equation.DSMT4  ���


26. � EMBED Equation.DSMT4  ���


28. � EMBED Equation.DSMT4  ���


32. aij + bij is a real number by the closure property of additon of reals. So the additon of ‘like’ matrices A+B is also closed.


34. x = -2, y = 3


36. x = -1, y = -1


38. x = x – 4 


(equating entries)


x = 2, y = -5





40. Toyota’s share of the US market over 2 years for different classes of cars.


42. (4,-3,3)


44. (2,-3,-2)


45. Prove Associative


(A+B)+C = A+(B+C)


(aij+bij)+cij 


     = aij + (bij + cij�)


for each ij-th entry, using the associative property of real #’s for addition.


46. (See #45 above)


47. Use the commutative property for real #’s, so that


aij + bij = bij + aij  or 


A + B = B + A


48. O � EMBED Equation.DSMT4  ��� A = O, since 0� EMBED Equation.DSMT4  ���aij = 0.


49. Use the distributive property of real numbers for + over � EMBED Equation.DSMT4  ���. c(aij + bij) = c(aij��) + c(bij�), hence 


c(A + B) = cA+cB


Review 12.1


1. (4,2)


2. 32o





Section 12.2


Class Exercises


1. 3� EMBED Equation.DSMT4  ���3


2. 2� EMBED Equation.DSMT4  ���2


3. 2� EMBED Equation.DSMT4  ���3


4. not conformable


5. 3� EMBED Equation.DSMT4  ���3


6. not conformable


7. not conformable








8. not conformable


9. � EMBED Equation.DSMT4  ���


10. � EMBED Equation.DSMT4  ���


11.� EMBED Equation.DSMT4  ���


12. � EMBED Equation.DSMT4  ���


13. g = s, t = f


Section 12.2


Practice Exercises


2. [31]


4. � EMBED Equation.DSMT4  ���


6. undefined


8. � EMBED Equation.DSMT4  ���


10. � EMBED Equation.DSMT4  ���


12. B = � EMBED Equation.DSMT4  ���, then 


AB = [32] and 


BA = � EMBED Equation.DSMT4  ���


14. BA might not exist and even if it does, it might not equal AB. 





42.� EMBED Equation.DSMT4  ���44. � EMBED Equation.DSMT4  ���45. West:1422.00


East: 1446.40


Midwest: 1510.50


Challenge 12.2


1. � EMBED Equation.DSMT4  ���


2. -2


Section 12.3


Class Exercises


1. �


2. �


3. �


4. Adjacency matrix has all 1’s except a diagonal of 0’s.


   �








5. Draw the directed graph first deciding who can send information to whom


�


Then fill out the adjacency matrix


�


Read it as (i) A calls to everyone (ii) D calls to no one (iii) B calls only C (iv) C calls only A (one helluva phone tree!)


Section 12.3


Practice Exercises


2. S


4. P


6. �


(where n1 = A, etc)


8. �


(where n1 = A, etc)








10. � EMBED Equation.DSMT4  ���


11. �


12. 


�


13.


�


14. “Enough is enough!”


15. Okay, I had to try one of these fivers! �


16. See #15 (which took so long! It’s 5AM… hmm… I’ve got to get a life!)








24. 3


26. yes


27. 5


28. R = � EMBED Equation.DSMT4  ��� 


R2 = � EMBED Equation.DSMT4  ���


R3 = � EMBED Equation.DSMT4  ���


R4 = � EMBED Equation.DSMT4  ���


30. 1, 2


32. 21


34. direct: zeros


2-stage: zeros


3-stage: 2 two-path routes and 2 one-path route.


35.  A            B





                       C


36. � EMBED Equation.DSMT4  ���


38. �


39. A = -1, B = 1, C = -1, D = 1. There is no winner since B & D are tied.


40.  T2 = 


   �








41. B& D are tied 


   �


42. D wins, then B & C 


    �


    �


44. �


45. Albert can only talk to Callisto since Beatrice won’t talk to Albert. Callisto is Beatrice’s friend and confidant and has even been seen talking to herself. 


� EMBED Equation.DSMT4  ���� EMBED Equation.DSMT4  ���=


       � EMBED Equation.DSMT4  ���


 











Review 12.3


1. parabola


2. hyperbola


3. 10
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